

2.

$$\left\{ \begin{array}{l} f(x,y,z) = x^2 + y^2 + z^2 \quad (\text{distância ao quadrado}) \\ \varphi(x,y,z) = x^2 - yz - 1 \end{array} \right.$$

$$\left\{ \begin{array}{l} \partial_x f = \lambda \partial_x \varphi \\ \partial_y f = \lambda \partial_y \varphi \\ \partial_z f = \lambda \partial_z \varphi \end{array} \right.$$

$$\begin{array}{l} \therefore \\ \text{o.f.} \end{array} \left\{ \begin{array}{l} 2x = \lambda 2x \\ 2y = \lambda (-z) \\ 2z = \lambda (-y) \\ x^2 - yz = 1 \end{array} \right. \Rightarrow \begin{array}{l} x = \lambda x \\ \lambda(1-\lambda) = 0 \\ \underline{\lambda = 0} \quad \text{ou} \quad \underline{\lambda = 1} \end{array}$$

Seja  $\lambda = 0$ .

$$\left\{ \begin{array}{l} 2y = -\lambda z \rightarrow -\lambda = \frac{2y}{z} \\ 2z = -\lambda y \rightarrow -\lambda = \frac{2z}{y} \\ -yz = 1 \Rightarrow y \neq 0, z \neq 0 \end{array} \right. \left. \begin{array}{l} \frac{2y}{z} = \frac{2z}{y} \\ y^2 = z^2 \\ \underline{\underline{y = \pm z}} \end{array} \right.$$

Se  $y = z$  :  $-y^2 = 1$   
 $-y^2 = 1 \Rightarrow y^2 = -1 \Rightarrow \nexists y$

Se  $y = -z$  :  $-y(-y) = 1 \Rightarrow y^2 = 1 \Rightarrow y = \pm 1$

$\therefore (x,y,z) = \left\{ \begin{array}{l} (0, 1, -1) \\ (0, -1, 1) \end{array} \right.$